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G AT

−A 0

] [
v(t)
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]
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[
C 0
0 L

]
d

dt
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]
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J
E

]
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0 N
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[
xs(t)
xf (t)

]
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]
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xf (t) = −
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xs(t)
xf (t)

]
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γ(t) 0
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]
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I − α2(T )α1(T/2)

)−1

×
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)
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x2(T/2−0) =
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)−1

×
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)
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������������� ���� ������� ���
��� ������ B��
 --� %�
 -� ##
 �.-0�.>�

-33.


�1� �
 6�7�&�� C
 6� � � ��� 6
 ����� ����#()�)��� �� :� ��� B��(� 

��� ���  ! "�#��$�� 5�)��() D ��� 5������� !E(�)��� *� ����

��	��� ���
���� 	�� ������ ���
 1/� ��
 +� A(�& -33-


�2� �
 ������ 	
 ���
�� �;� :�)�������� ���� �� ���������� ����� ��

���  ! "�#��$�� *� ����� ��
���
	
 ������� %<?-3�.0+2� -3�.


�,� �� ��)�&���� �6��7��0 �� ()��(0��0 ��)�7�0 ���&��*� ������7�0

��7( &�� �/// �� A�#��� �


�+� A
 @
 ?�����# � <
 :����� ��� <
 �
 6�������� �=(����)��� ?�  ��� ���0

������ ���� �����)��� ��� ����� ;���� @��(�)���*� ���� ��	���

�������������� ������� ���
 --� ��
 >� "(�( ) -33.


- 905 -


